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Notes: Figures to the right indicate full marks of Questions.

Q.1 The following is the balance sheet of Amar Lid. as on 31st March, 2017. [15]
s Amount Amount
Liahilities ) Assets )

Share Capital : Goodwitl 15000

15,000 Equity shares of Building (at Cost Less

%100 each 1500C00|Depreciation) 150000

Generaf Reserve 240750(Plant & Machinery

6% Debentures 60000 ((at cost less _

Bank Loan {Short Term) 52500|depreciation) 300000

Sundry Creditors 90000 Patents (less written off) 150

Unclaimed Dividend 4500 Investments :

Provision for Taxation 10500{Quoted {(Market Value
T 22500) 15000
Unquoted 15000
Trade Investments 30000
Share in Subsidiary
Company 180000
Stocks and Stores 225000
Cash in Hand 270000
Sundry Debtors 575000
Bills Receivables 75000
Preliminary Expenses 8100

1958250 1958250

Additional Information : ‘

(1) The Current replacement Cost of Building and Plant Machinery are
7 225000 and T 450000 respectively.

(2)  The Value of Shares in Subsidiary Co. is ¥ 225000,

(3) The Trade Investments are valued at T 37500, Unguoted investments at
722500 and Quoted Investments are not reputad with normal activities of
the Company. _

(4) The value of raw materials included in the figures of Stocks and Stores
has shown on increase of T 75000. However, ¥ 15000 worth stocks are
obsolete and are to be Written Off.

(5) The patents have a market value of T15000 which represent a
conservative estimate of the price which can be obtained if, add at
present. '

(8) The profit of the year is X 331500.

(7) If the depreciation is charged on replacement cost hasis then it will be
increased by ¥ 15000 for building, ¥ 22500 for plant and machinery and
< 300G for Patents.

(8) - The Sales made in previous year were 31 50000 in which estimated profit
is T16500. This figures is included in the profit given.

(9) The profits on completed contract is I 4500. This figure has been
ignored which calculating the net profit.
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Q.2

(10) The amount of goodwill written off during the year was ¥ 3000.

(11) Income from Quoted investments of ¥ 1500 has been included in the
profit of the year.

(12) There was a loss on sale of assets of ¥ 750 which is charged to profit and
loss account of the year. :

" From the above menticned information, Calculate :

(1) Gross Capital Employed and net Capita! employed.

{2)  Profit for Management Planning and Control.

(3) Return on Gross Capital Employed and Net Capital Employed.

OR

Explain the Concept of Retun on Capital Employed and discuss its -

advantages and Limitations.

What is Value Added Accounting ? How Value Added Statement is differ
from Profit & Loss Account ? Discuss.

OR
The following figures for the year 2017 were received of a Company.

Particuiars Arr;;;mt Particulars Arrz;;mt
Sales Closing Stocks :
Purchase of Raw 1246000 Raw Materiais 55000
Materials 500000 |Finished goods 118000
Consumable Stores 12000|Opening Stock :
Agent's Commission 10000 Raw Material 42000
Stationary 50001 Finished Goods 1010G0
Packing Materials 6000iP & L Alc. (Retained 63000
Audit fees 1000{Earnings)
Staff Welfare expenses 80000 Provision of Income Tax 5G000
Insurance 12000 Provision for Depreciation! 28000
Managing Director's Dividend to share holders 15000
remuneration 40000|Interest on loan taken 10000
Rent, Rates & Taxes 10000|Carriage 16000
Travelling Expensas 10000 |Subscription paid 2000
Fuel & Oil : 5000!Directors fees 19000
Electricity ' 3000|PF Contribution 32000
Material used in Repairs : Postage & Telegrams 5000
To Plant Machinery ' 12000|Salaries & Wages 320000
To Building 5000} Advertisement 12000

From the above information, you are required to prepare a statement
detailing the source and disposal of added value.

RK Company has a production capacity of 300000 Units per year. Normal
Capacity utilisation is 80%. Standard variable production cost are %20 per
Unit. The fixed costs are T 600000 per year. Variable selling costs are ¥ 6 per
unit and fixed selling costs are ¥ 400000 per year. The unit selling price is T 40.

In the.year ended on 31* March, 2017 the production was 200000 Units
and Sales were 180000 Units. The dlosing stock on 31% March, 2017 was
30000 Units. The actual variable production costs for the year were ¥ 50000
higher from the standards.

Calculate the profit for the year.

(A) By the absorption Costing Method.

(B) By the Marginal Costing Method.

OR C?«T\fo-

@D

[15]
[15]

(20].

[19]



Q.3 A Litd. Produces at normal production capacity, and no closing stock of [15]
previous year.

Production 30000 Units
Sales 28000 Units
Seliing Price 7100

Direct Materials ¥ 300000
Direct \Wages 2200000

Factory Expenses ©

Fixed Z 120000

Variabie ¥ 200000

Administrative Expenses ¥ 250000 (Fixed 70%, Variable 30%)

Seilling and distribution Expense < 30000C

{Fixed Expenses are 1/5 of Variable expenses)

Find out Net profit as per absorption Costing and Marginat Casting

Method.

Q.4 Discuss:
(1) Meaning and objectives of Transfer Pricing. [08]
(2) Development of Environment Accounting in India. [07]

OR

Q.4 Explain:
(1) Scope of Environmental Accounting. [08]
(2} Methods of Transfer Pricing. _ [07]
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